1. Read the text. Circle K (kangaroo), L (indri lemur) or B (both).

a) It lives only in one continent. K/L/B
b) There are four kinds of this animal. K/L/B
c) It can be heavier than some humans. K/L/B
d) It can steal people’s food. K/L/B
e) It sometimes attacks humans. K/L/B
f) It eats plants. K/L/B

2. Circle T (True) or F (false).

a) Indris are larger than kangaroos. T/F
b) Kangaroos are more dangerous than indris. T/F
c) Indris are friendlier than Kangaroos. T/F

d) Kangaroos aren’t heavier than indris. T/F



